22 188 #5 fl) 5 f A T

FERIRB | HEFNABAE R BA G B2 R R BB R R B4R R
& T LR & T SE RS & T SE RS & T SE RS
(X[#) (X ) (X ) (X )

pspuniEll H m % m % m % m
AT EF M E K 13 4, 060 14 4,120 14 4,120
@ | BT O R TAE I 178 54, 279 178 57, 407 177 57, 007
g SRR R 45| 15,790 201 | 115,288 201 | 114,988 201 | 114,988
Ik » ft 29| 11,005 24 4,714 24 4,714 24 4,714
at 74| 26,795 416 | 178, 341 417 | 181,229 416 | 180, 829
— Vol i 17 85| 24,145 494 | 125,973 498 | 127,163 498 | 127,193

8 & 7 om s AT AR Ik 73 927 - 946 - 944 -
AT FH OB W & Ik 2 1,230 13 13, 240 12 12, 740 12 12, 740
CLIE S - S S 0 0 0 0 0 0
80F 1 A — kb 10 96, 025 10 96, 025 10 96, 025
0% 12 A— kb 0 0 0 0 0 0
o | ® 60F 11 A — kb 1 330 1 330 1 330
. 50% 1 A — kL 17| 20,900 280 | 729,457 281 | 726,327 280 | 728,307
TEJ | s0%m2—Fn 55| 72,410 570 | 826,136 571 | 828,866 571 | 828,366
= 30%F 2 A — kL 16| 18,430 356 | 277,246 329 | 275,646 330 | 278,111
e 20% 1 A — kb 61 25, 845 61 25, 845 61 25, 845
X | 40%m A— kL 1 183.9 0 0 0 0 0 0
| 30F%FmA—hL 5 149. 0 27 | 210,260 27 | 210, 260 27 | 210,260
fix =] B 1k 5 4,900 10 4,900 10 4,900 10 4,900
% 1&%&5 gjb\ ﬁ@ﬁ Z”i b&%ﬁ 68| 51,965 301 | 662,136 297 | 663,676 297 | 662,661
— 153 1= 1k 713 970 | 7,751 11,126 | 7,776 11,172 | 7,791 11,197
3O O 32 13, 505 32 13, 505 32 13, 505
B H % 1k 261| 82,824 | 1,660 |1,182,734 | 1,659 |1,182,944 | 1,659 |1, 182,944
i i 1 i S 6 B I X 3 55 3 55 3 55
SRR IN—=F T A—H— 2 60 2 60 2 60
e PR 2 190 2 190 2 190
2 oH OB L5 X M 48| 53,660 9 29, 190 9 29, 190 9 29, 190
i Wr Hr i 652 1,102 | 5,170 9,946 | 5,189 9,993 | 5,193 9, 997
=k % 0k S 154 - 154 - 154 0
H 5 B A E @ T A 10| 13,210 877 |1, 300, 326 876 | 1,317,474 861 | 1,311,864
BEORR N R OSE B e W AT Y 6 8, 950 6 8, 950 6 8, 950
HBoAT FHOR K M A 8 1,629 8 1,629 8 1, 629
3 O = N =S GO S /27 152 44, 070 151 43, 595 151 43, 595
S I O 1, 050 2,507 | 1,025 2,442 | 1,000 2, 382
- B 1k M 212 507 193 453 183 434




